180 in

172.83299 in
Sides 5’ GoldGalv Sides 5’ GoldGalv Sides 5’ GoldGalv Sides 5’ Superstrut
Superstrut 1T Superstrut ol Superstrut 1" Lined Up With

> Ig Lined Up With g [  Lined Up With g [ Lined Up With  [g [ Mounting Holes [

4 Mounting Holes & & Mounting Holes & & Mounting Holes & ¢ :
Odoefoooococoococoococooocoooodopdepooooooooooococoobo0o0o0(dopdepooooooocooooooo0o0o0o0odipdepooocoocooocooocoo0oco0o0oo(epo

3.58333in E‘ 0 0 0 0 0 0

s Crossbeams for [| [¢ o o o 0

g | by 1 a

[ 0 of |o 119in of |o ol |o 59.51n 0
N [ ] 0l lo ol lo I ol lo 0l 5

I\) 0 0 0 0 0 0 0 0
| : |
© {0 18] |@ersin @90.625 in @13a5in] § ] Ot
3_ 275mD ] 0 0 0 0 0 0 D2.75m

g 85375in L1 | o N 35.375in

1 0 0 0 0 0 0 L 1]
_ o o] |o ) o] |o of |o ! }

0 60 in o o o o 120in 9 [ 0
Eqppeeeesesesesesses %EEZ sesecleesesesessesepqpececesesesesesseselpaps peesesesesssseselpel

s 1] of (o HiH 5| |o o

102 in ‘

4Scotchrap 50 Tape between solar modules and Superstrut.
Superstrut primed and painted to prevent corrosion.
All 18-8 Stainless Hardware (except where noted)
Use anti-galling compound on stainless nylon locknuts as it will bind up easily

2x PE46-Hex8 46” Earth Anchors
3x 5’ 2” Rigid Conduit Galvanized (RMC)
1x 10’ 2” Rigid Conduit Galvanized

Holes drilled th h2” RM i
2x Iron Ridge 2” Top Cap oles cri’ec troug C using

Trick Tools Drill Rite

Per Solar Module:
4x 5/16”-24 x 3/4” for 8.5mm holes

4x 1/4”-28 x 3/4” for 7mm holes (skip outer small holes) 4x 3/8 x 3” Stainless bolts,

TJ 8x 5/16” 1.25” OD Stainless Oversized Washer (doubled up) ;T washers, lock nuts
el 8x 1/4” 1.25” OD Stainless Oversized Washer (doubled up) o
:IT 4x 5/16” 0.75” OD Nylon Washer to prevent corrosion :IT
:!f 4x 1/4” 0.75” OD Nylon Washer to prevent corrosion :f
“ 4x 5/16” 0.75” OD Washer, 5/6” nylon lock nut «
1 4x 1/4” 0.75” OD Washer, 1/4” locknut or 1/4” high-collar split washer :f'
:1” 2x 2” Superstrut Pole Clamp Po4
:(f 12x Superstrut 3/8”-16 Spring Nut :f
§4  4x Unitstrut U-Bracket 5 Holes i1
E:ff 24x 3/8” 1” washer for U-Bracket (doubled up) E?
't 12x 3/8”-16 for for U-Bracket 7

4x WEEB Grounding Lug 6.7 1/4” (Listed)



